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LY iR =E=5{] 251,977 291,350 239,373
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- A3 46,0502 » 19 x2602 *3/ 128 2,994 8,385 25,391
— HEEIH| 46,0502 * 1% 212 *60%* 22 1,161 3,251 A2,090
201 LBt 53,570 55,679 22,109
01 AL 22| H 40,070 42,179 A2,109
O YstsgH| 27,081 29,190 A2,109
— HJl2 XNYAM DXAMH 2 (BZ)
4,491,000 4,491 6,600 A2,109
202 04| 12,500 10,000 2,500
01 2ol 12,500 10,000 2,500
O XYM 2 =8 oyl (22
9,500,0002 9,500 10,000 A500
O Heg=z2 2 BAXS ZANH|
3,000,000 3,000 0 3,000
303 T A2 13,000 10,000 3,000
01 ZTa2 13,000 10,000 3,000
O 2014, ML EF2 NESEZI ZA42
3,000,000 3,000 0 3,000
405 KAk S| 71,250 75,000 23,750
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2RH £ ¥BS KD 137,938 141,713 AB,775
HEFEINHEA - HHEN 137,938 141,713 A3,775
201 Yer2 | 70,517 74,167 3,650
01 AbR 22t 69,357 73,007 3,650
O ysr2gyl 64,247 67,897 £3,650
— SHZIME, ZBIN, 4FIN 7Y (B
2) 2,950,000%! 2,950 6,600 A3,650
202 04t 2,375 2,500 A125
01 =L 01 bl 2,375 2,500 A125
O HEFH=T ol (B2) 2,375,000% 2,375 2,500 A125
NgHY e 139,081 120,031 19,050
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— XA ME(0R 2B)DNN 7Y (B
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O NYA JHaHE AAE 20,000, 0002 20,000 0 20,000
303 ZA3 0,000 0 10,000
NEXE 10,000 0 10,000
O ALes 80 T4 (5HSH)
10,000,0002 0,000 0 10,000
Mel+e 22X & 40,412 41,020 608
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201 et | 89,355 93,236 ~3,881
01 AFR 22l t] 73,735 77,616 £3,881
O ger+g| 43,735 47,616 £3,881
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11,119,0008 11,119 15,000 £3,881
202 04t 27,930 29,400 A1,470
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nsHF Ho 3,708,026 2,522,326 1,185,700
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= 0 7,800 A7,800
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HAed XNE 950,000 550,000 400,000
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[ia 893,932 493,932 400,000
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= 56,068 56,068 0
[ia 893,932 493,932 400,000
09 2+HAHEEXS 950,000 550,000 400,000
O 8Xkd 42483 & & 950,000,000 950,000 550,000 400,000
=) 56,068 56,068 0
e 893,932 493,932 400,000

~




SN D
By Ds#E N
Sel HEREXR (ol @)
SA-HB S (3H) - NPAY - B 0 &t w/E- HRE2
2x8H 82X N 1,500,950 1,001,000 499,950
202 Oddl 950 1,000 A50
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1,500,000, 000& 1,500,000 1,000,000 500,000
332+ A& 49,544 67,396 A 17,852
101 1Al 15,000 30,000 A 15,000
04 JIZHHZ2XNESE+ 15,000 30,000 A 15,000
O BHALd nsdXA 2 Z2E0A 0 15,000 A 15,000
201 Lt 16,209 16,796 A 587
01 AFR 22l 11,149 11,736 A 587
O g+ YLET Y (2)
2,913,000 2,913 3,500 A 587
202 oddl 5,985 6,300 A315
01 SLHOYI 5,085 6,300 A 315
O Zge+ 92 =3 SFUI(2Y)
5,985,000 5,985 6,300 A 315
307 glz2tol & 4,500 6,300 A 1,800
03 BIAHMNHE2IHIEL 4,500 6,300 A 1,800
O At3IEHX Ex3 4,500 6,300 A 1,800
— =MoLz 2 & 1,800,000& 1,800 3,600 1,800
405 THabH S| 2,850 3,000 A 150
01 HatH ESFH S 2,850 3,000 A 150
O 2AEHAE DEZ2 NHIAHE 7Y (B2
) 2,850,000 2,850 3,000 A 150
sHEHA MEXS(ZH) 740,000 508,000 232,000
< 213,361 222,361 29,000
[ia 526,639 285,639 241,000
307 21201 A 740,000 508,000 232,000
< 213,361 222,361 A9,000
s 526,639 285,639 241,000
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= 0 7,800 A7,800
= 0 18,200 A 18,200
09 2+HAHEEXS 0 26,000 A 26,000
O A ZXUEH(HSRNEZ L IHEIHA)
0& 0 26,000 N26,000
= 0 7,800 AT,800
a 0 18,200 A 18,200
2US A X 3,040 3,200 A 160
201 ¢4l 1,900 2,000 A 100
01 AF2 22l bl 1,900 2,000 A 100
O BAl ZXEL Z2EEIIHS (22)
1,900, 000& 1,900 2,000 A 100
202 Oddl 1,140 1,200 260
01 = LH 4 Hi 1,140 1,200 A 60
ZXEHA X L HX HES OHl (2
Z) 1,140,000& 1,140 1,200 A 60
1003 EHAl AMY 100,000 0 100,000
< 50,000 0 50,000
= 50,000 0 50,000
301 et Az 100,000 0 100,000
< 50,000 0 50,000
s 50,000 0 50,000
NJIEEd=s 100,000 0 100,000
O 1002 Al ALY (BIHE S 170HOIS)
Z & 100,000,000 100,000 0 100,000
< 50,000 0 50,000
[ia 50,000 0 50,000
wNSAES2el 103,012 104,750 21,738
nEANEE SN2 46,750 47,000 A 250
201 L Et2A | 46,750 47,000 A 250
01 AtR 22l | 4,750 5,000 A 250
O A & IE=IE 22ld ()
4,750,000& 4,750 5,000 A 250
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2 (22) 5,600,000 5,600 6,000 A400
HOlZ % USX 2elig 29 22l 950 1,000 A50
BHOlg 222l X8 950 1,000 A50
202 01t 950 1,000 A50
01 2ol bl 950 1,000 A50
O HOlY 2EXE B2 ofHl ()
950,000% 950 1,000 A50
ez 25,440 25,780 340
NENDEHEI LS 25,440 25,780 340
201 L2yl 22,590 22,780 A190
01 AL 22l 3,610 3,800 A190
O MSABEHS 45T FAD| 2 Z2H 4
28 Y (BY) 3,610,0002! 3,610 3,800 A190
202 01 bl 2,850 3,000 A 150
IETE 2,850 3,000 A 150
O MNSABEHE F+LLET oyl (BY)
1,850,000% 1,850 2,000 A 150
HANES L Tarzel 789,943 793,461 A3,518
THarzel 31,625 32,425 A800
=R (REE 8,375 8,800 ~425
201 L2 | 8,375 8,800 ~425
01 Ak 22l 8,075 8,500 £425
O BRUKA(Y)ESH++E (22)
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01 AL =2 S FH S| 9,500 10,000 A 500
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203 YR =2t 3,990 4,200 A210
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O BNSIYRFAH (BZ) 3,990,000 3,990 4,200 A210
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01 AL =2 S FH S| 475 500 A 25
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HRES (M2 6,450 0 6,450
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SHEXNE (M) 6,450 0 6,450
802 BtEt=JIEf 6,450 0 6,450
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O HASH MEZA 2 M L O X

350,000 350 0 350
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